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4. ohE 2Ol ATP = 40° & ©, zx ©] 2717

@ 40° @ 45° @ 50° @ 55° © 60°
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=3 1%/?1\]/\1 5.0ptAB = 12cm , /ADB = 35°, /AOC = 140° &
o, 5.0ptAC 2] Ao]=?

@ 20cm @ 2lcm @ 22cm @ 23cm ® 24cm
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Zte sin cos tan
44 0.6947 0,7193 0,9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1.0355
@ 1.022 @ 6.947 ® 7.071

@ 9.567 ® 10.355
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= A2 ABC oA A =34°

o, =°] BC & 5tH? (H, sin3d4° =
0.5592, cos34° = 0.8290 )

@ 20.141 ¢m @ 21.523cm

@ 22.368 cm @ 23.694 cmm

® 24.194cm



8. Tt 1HO aABCY| Hole?

D 7V2cm? @ 14V2cm? ® 21V2cm?
@ 282 cm? ® 56 V2 cm?
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@ 12cm @ 13cm ® l4cm @ 15cm ® 16cm



11.

2 Sfofat,
Zie sin cos tan
10° 0.1736 0.9848 0.17638
20° 0.3420 0,9397 0.3640
35° 0.5736 0,8192 0.7002
45° 0.7071 0.7071 1.0000
50° 0.7660 0.6428 1.1918
70° 0.9397 0,3420 2.7475
89° 0,9998 0,0175 57.2900
=
271
@ sin20° © cos3bH° © sin70°
® cosb50° @ tan70°

0,68 92606 066 ®oe a6




12, o8 I9T} Zol 100m GolA T A C
HA,B A sl Wil 75 C
2 ok 4t 2442 60°, 45° 9

t}. o] W, 78] fol h 2

@ 100m @ 50V3m
® 100V3m @ 100(V3-1)m
® 50(3- V3)m



13. o2 1™fA PC & Y9 Ao,
PB = &Aoottt (P = 30°, PA =
4em , PC = 6em ¥ o], APBC 9] 4

o]=7?

@ 3—23ch @ 2+v3cm? ® —cm?

@ 4+/3cm? ® gch



14. o2 OHoA AB = ¥ 0 9 AE°|tt. AB=6,CD =4 0|1
AB//CD ¥ ], ACOD 9] {o]=?

JAVA)
N

O V3 @ 5 ® 23 @ 245 ® 3



15. A2k ABCD ©] ¥ CD $19] A E 914 tZ41 AC ofl =l $:419]
T2 H, 7 AR AE 9 BH 9] a4 Tu= A= F kil st
(DAE = a 2}11 & 1, /EHF ¢] Z27]& +ofofet,

A il ,,D
/// H
B C

@ 5a° @ 4a° @ 3a° @ 2a° ® a°



